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- MAT ASS MAIN (5/6)

RHATE

IC== CONSTRUCT the GLOBAL MATRIX
do ie= 1, 8
ip = nodLOCAL (ie)
do je=1, 8
jp = nodLOCAL (je)

kk= 0
if (jp.ne.ip) then
iiS= index (ip-1) + 1
iiE= index(ip )
do k= iiS, iiE
it ( iﬁem(k).eq.jp ) then
exit
endif
enddo
endif

(-1+1,+1)

(-1-1+1)

AT DIEX AR SD
Aip,jp

kk:itemIZEIFTHT7KL R

Ip= NnodLOCAL (ie)
Jp=nodLOCAL(je)
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IC | BOUNDARY CONDITIONS | .
IC - HEERALTWAETRIC ﬁ‘ﬂ??‘érﬁlu%
C=== ABIZHIELTEET S
:g N Index( j]
1C— X=Xmin -

=1 Dlagj¢j + Z Ama'tk ¢Item[k]

jS= INDEX (i-1) k=Index[ j—1]+1,k =k

AMAT (jS+1)= 0. O = RhS- — Amat,

DIAG(i)= 1.d0. ¢'tem["s]

RHS ()= PHImin = Rhs; — Amat, T . where Item(k,) =1

doi=1, N

do k= INDEX(i-1)+1, INDEX(i)
if (ITEM(k).eq. 1) then
RHS (i)= RHS(i) - AMAT (k)*PHImin
AMAT (k) = 0. dO
endif
enddo

enddo

10===

#E: — R
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IC + :
IC | {al= [Al{p} |
IC + :
do j=1, N
WVAL= D (j)*WW(j, P)
do k= index (j-1)+1, index(})
i= item(k)
WVAL= WVAL + AMAT (k) *WW (i, P)
enddo
WW(j, Q)= WVAL
enddo
IC + :
IC | ALPHA= RHO / {p}{a} |
IC + !
G10= 0.d0
do i=1, N
C10= C10 + WW(i, P)xWW (i, Q)
enddo
G1= C1

ALPHA= RHO / C1
! C:::

o

Compute r©®= b-[A]x®
for 1= 1, 2,

solve [M]z(-D= rG-D
pi—1: r(i—l) Z(i—l)
if i=1
p(l): z(0)
else
Pi_1= Pi-_1/Pi_2 _
p(l): z@(-1) 4 Bi—l p(|_1)
endif
qﬁ): [A]p(U
o; - pi—llp(i)q(i)
x(M= x(@-1) 4 OLip(i)
rd= rG-0 - g g
check convergence |r|
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